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1 Introduction

1.1 Objectives
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1.2 References
PTS SRS 1.0
PTS SRA 3.3
PTS SDS 2.2

PTS UTP 1.0

2 Unit test case specification

2.1  Test case specification identifier

<Table 1> Test Case Identification with Valid Inputs

Test Case Identifier Input Specification Output Specification

PTS_UTCV_000_000 0001 .txt card_data.day = 20141118
card_data.minute = 1523
201411181523 M | 1950 BUS1219 | card_data.transportaion = ‘M’
MKU card_data.io = 'I'
card_data.balance = 1950
card_data.readerID = “BUS1219"
card_data.transfer = "MKU"
PTS_UTCV_000_001 0002.txt card_data.day = 20141119
card_data.minute = 0813
201411190813 B | 1050 BUS0872 card_data.transportaion = B’
NOT card_data.io = 'I'
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card_data.balance = 1050
card_data.readerlD = "BUS0872"
card_data.transfer = "NOT"

PTS_UTCV_000_002

0003.txt

201411202349 M 1 1050
MDM1603 NOT

card_data.day = 20141120
card_data.minute = 2349
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1050
card_data.readerID = "MDM1603"
card_data.transfer = “NOT"

PTS_UTCV_001_000

card_data.day = 000000
card_data.minute = 0000
card_data.transportaion = NULL
card_data.io = 'O’
card_data.balance = 2000
card_data.readerID = "DEFAULT”
card_data.transfer = "NOT"

pts_data.day = 141118
pts_data.minute = 2112
pts_data.transportation = ‘B’
pts_data.readerID = "BUS"
pts_data.count = 0014

card_data.day = 20141118
card_data.minute = 2112
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 950
card_data.readerID = “BUS0014"
card_data.transfer = "NOT"

api_data.day = 20141118
api_data.minute = 2112
api_data.transportation = 'B’
api_data.io ='I'

api_data.cost = 1050
api_data.readerID = "BUS0014"
api_data.transfer = "NOT”"

cost = 1050
uncal_cost = 0

enable = 1

PTS_UTCV_001_001

card_data.day = 20141118
card_data.minute = 2135
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000

card_data.readerID = “BUS0014"

card_data.transfer = "NOT"

pts_data.day = 20141118
pts_data.minute = 2140

card_data.day = 20141118
card_data.minute = 2140
card_data.transportaion = ‘B’
card_data.io = 'O’
card_data.balance = 2000
card_data.readerID = "BUS0014"
card_data.transfer = “NOT"

api_data.day = 20141118
api_data.minute = 2135
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pts_data.transportation = ‘B’
pts_data.readerIlD = "BUS"
pts_data.count = 0030

d_sec = 0.625

api_data.transportation = ‘B’
api_data.io = 'O’

api_data.cost = 0
api_data.readerlD = "BUS0030"
api_data.transfer = "NOT”

cost =0
uncal_cost = 0

enable = 1

PTS_UTCV_001_002

card_data.day = 20141118
card_data.minute = 2149
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000
card_data.readerID = “BUS0014"
card_data.transfer = "NOT"

pts_data.day = 20141119
pts_data.minute = 0023
pts_data.transportation = ‘B’
pts_data.readerID = "BUS"
pts_data.count = 0002

d_sec =

card_data.day = 20141119
card_data.minute = 0023
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 950
card_data.readerID = “BUS0002"
card_data.transfer = "NOT"

api_data.day = 20141119
api_data.minute = 0023
api_data.transportation = ‘B’
api_data.io ='I'

api_data.cost = 1050
api_data.readerID = "BUS0002"
api_data.transfer = "NOT”"

cost = 1050
uncal_cost = 0

enable = 1

PTS_UTCV_001_003

card_data.day = 20141118
card_data.minute = 2149
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000
card_data.readerID = “BUS0014"
card_data.transfer = "NOT"

pts_data.day = 20141118
pts_data.minute = 2245

pts_data.transportation = ‘M’

card_data.day = 20141118
card_data.minute = 2245
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 950
card_data.readerID = “MKU0124"
card_data.transfer = “NOT"

api_data.day = 20141118
api_data.minute = 2245

api_data.transportation = ‘M’
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pts_data.readerIlD = "MKU"
pts_data.count = 0124

d_sec =7

api_data.io ='I'

api_data.cost = 1050
api_data.readerIlD = "MKU0124"
api_data.transfer = "NOT"

cost = 1050
uncal_cost = 0

enable = 1

PTS_UTCV_001_004

card_data.day = 20141118
card_data.minute = 2149
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000
card_data.readerID = "MKU0386"
card_data.transfer = "BUS”

pts_data.day = 20141118
pts_data.minute = 2245
pts_data.transportation = 'B’
pts_data.readerID = "BUS"
pts_data.count = 0463

d_sec =7

card_data.day = 20141118
card_data.minute = 2245
card_data.transportaion = ‘B’
card_data.io = 'O’
card_data.balance = 2000
card_data.readerID = "MKU0386"
card_data.transfer = "BUS"

api_data.day = 20141118
api_data.minute = 2245
api_data.transportation = ‘B’
api_data.io = 'O’

api_data.cost = 0
api_data.readerIlD = "MKU0386"

api_data.transfer = "BUS"

cost =0
uncal_cost = 0

enable = 1

PTS_UTCV_001_005

card_data.day = 20141118
card_data.minute = 2149
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000
card_data.readerID = "MKU0386"
card_data.transfer = “BUS”

pts_data.day = 20141119
pts_data.minute = 0012
pts_data.transportation = ‘B’
pts_data.readerID = "BUS"

card_data.day = 20141119
card_data.minute = 0012
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 250
card_data.readerlD = “BUS0463"
card_data.transfer = “NOT"

api_data.day = 20141119
api_data.minute = 0012
api_data.transportation = 'B’

api_data.io ='I'
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pts_data.count = 0463

d_sec =

api_data.cost = 1750
api_data.readerlD = "BUS0463"
api_data.transfer = "NOT”

cost = 1050
uncal_cost = 700

enable = 1

PTS_UTCV_001_006

card_data.day = 20141118
card_data.minute = 2149
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 2000
card_data.readerlD = "MKU0386"
card_data.transfer = "BUS”

pts_data.day = 20141118
pts_data.minute = 2223
pts_data.transportation = ‘M’
pts_data.readerID = "MKU"
pts_data.count = 0463

d_sec = 4.25

card_data.day = 20141118
card_data.minute = 2223
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 250
card_data.readerID = "MKU0463"
card_data.transfer = "NOT"

api_data.day = 20141118
api_data.minute = 2223
api_data.transportation = ‘M’
api_data.io ='I'

api_data.cost = 1750
api_data.readerIlD = "MKU0463"
api_data.transfer = "NOT”"

cost = 1050
uncal_cost = 700

enable = 1

PTS_UTCV_001_007

card_data.day = 20141118
card_data.minute = 2229
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1500
card_data.readerID = "BUS1024"
card_data.transfer = "NOT"

pts_data.day = 20141119
pts_data.minute = 0634
pts_data.transportation = ‘M’
pts_data.readerIlD = "MKU"
pts_data.count = 0187

card_data.day = 20141119
card_data.minute = 0634
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 450
card_data.readerID = "MKU0187"
card_data.transfer = "NOT"

pts_data.readerlD = “MKUO0188"
api_data.day = 20141119

api_data.minute = 0634

api_data.transportation = ‘M’
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d_sec =

api_data.io ='I'

api_data.cost = 1050
api_data.readerIlD = "MKUO0187"
api_data.transfer = "NOT"

cost = 1050
uncal_cost = 0

enable = 1

PTS_UTCV_001_008

card_data.day = 20141118
card_data.minute = 2229
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1400
card_data.readerIlD = "MDM4872"
card_data.transfer = "NOT"

pts_data.day = 20141119
pts_data.minute = 0634
pts_data.transportation = ‘M’
pts_data.readerID = "MKU"
pts_data.count = 0187

d_sec =

card_data.day = 20141118
card_data.minute = 2229
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1400
card_data.readerIlD = "MDM4872"
card_data.transfer = "NOT"

cost = 1050
uncal_cost = 200
enable = 0
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PTS_UTCV_001_009

card_data.day = 20141118
card_data.minute = 2229
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1300
card_data.readerIlD = "MDM4872"
card_data.transfer = "NOT"

pts_data.day = 20141118
pts_data.minute = 2313
pts_data.transportation = ‘B’
pts_data.readerlD = "BUS6309"
pts_data.count = 6309

d_sec =55

card_data.day = 20141118
card_data.minute = 2313
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 50
card_data.readerID = “BUS6309"
card_data.transfer = "NOT"

pts_data.readerID = “BUS6310"

api_data.day = 20141118
api_data.minute = 2213
api_data.transportation = 'B’
api_data.io = 'I'

api_data.cost = 1250
api_data.readerlD = "BUS6309"

Team 5




Ver. 2.0

api_data.transfer = "NOT"

cost = 1050
uncal_cost = 200

enable = 1

PTS_UTCV_001_010

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’

card_data.balance = 800

card_data.readerID = "MDM1549"

card_data.transfer = "NOT”

pts_data.day = 20141118
pts_data.minute = 1707
pts_data.transportation = 'B’
pts_data.readerID = "BUS"
pts_data.count = 3903

d_sec = 13

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’
card_data.balance = 800
card_data.readerID = "MDM1549"
card_data.transfer = “NOT"

cost = 1050
uncal_cost = 0
enable = 0
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PTS_UTCV_001_011

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’

card_data.balance = 800

card_data.readerID = "MDM1549"

card_data.transfer = “NOT"

pts_data.day = 20141118
pts_data.minute = 1707
pts_data.transportation = ‘M’
pts_data.readerID = "MHJ"
pts_data.count = 2010

d_sec = 13

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’
card_data.balance = 800
card_data.readerIlD = "MDM1549"
card_data.transfer = "NOT”"

cost = 1050
uncal_cost = 200
enable = 0
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PTS_UTCV_001_012

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’

card_data.io = 'O’

card_data.day = 20141118
card_data.minute = 1731
card_data.transportaion = ‘M’

card_data.io = 'I'
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card_data.balance = 1300
card_data.readerID = "MDM1549"
card_data.transfer = "NOT”

pts_data.day = 20141118
pts_data.minute = 1731
pts_data.transportation = ‘M’
pts_data.readerlD = "MHJ"
pts_data.count = 2010

d_sec = 16

card_data.balance = 250
card_data.readerID = "MHJ2010"
card_data.transfer = "NOT"

pts_data.readerIlD = "MHJ2011"

api_data.day = 20141118
api_data.minute = 1731
api_data.transportation = ‘M’
api_data.io ='I'

api_data.cost = 1050
api_data.readerlD = "MHJ2010"
api_data.transfer = "NOT”"

cost = 1050
uncal_cost = 0

enable = 1

PTS_UTCV_001_013

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’
card_data.balance = 1100
card_data.readerID = "MDM1549"
card_data.transfer = "NOT"

pts_data.day = 20141118
pts_data.minute = 1707
pts_data.transportation = ‘M’
pts_data.readerID = "MHJ"
pts_data.count = 2010

d_sec = 13

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'O’

card_data.balance = 1100

card_data.readerIlD = "MDM1549"

card_data.transfer = “NOT"

cost = 1050
uncal_cost = 0
enable = 0
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PTS_UTCV_001_014

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1700
card_data.readerID = “BUS2178"
card_data.transfer = “MDM"

card_data.day = 20141119
card_data.minute = 0843
card_data.transportaion = ‘B’
card_data.io = "I'
card_data.balance = 50
card_data.readerID = "BUS0791"
card_data.transfer = “NOT"
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pts_data.day = 20141119
pts_data.minute = 0843
pts_data.transportation = ‘B’
pts_data.readerIlD = "BUS"
pts_data.count = 0791

d_sec =

pts_data.readerlD = "BUS0792"

api_data.day = 20141119
api_data.minute = 0843
api_data.transportation = ‘B’
api_data.io ='I'

api_data.cost = 1650
api_data.readerlD = "BUS0791"
api_data.transfer = "NOT"

cost = 1050
uncal_cost = 600

enable = 1

PTS_UTCV_001_015

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1950
card_data.readerlD = "MKU4219"

card_data.transfer = "BUS"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerIlD = "MHJ"
pts_data.count = 3195

d_sec = 26.75

card_data.day = 20141118
card_data.minute = 1857
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 200
card_data.readerID = "“MHJ3195"
card_data.transfer = "“NOT"

pts_data.readerlD = "MHJ3196"

api_data.day = 20141118
api_data.minute = 1857
api_data.transportation = ‘M’
api_data.io ='I'

api_data.cost = 1750
api_data.readerlD = "MHJ3195"
api_data.transfer = "NOT"

cost = 1050
uncal_cost = 700

enable = 1

PTS_UTCV_001_016

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘M’

card_data.io = 'I'

card_data.day = 20141118
card_data.minute = 1857
card_data.transportaion = ‘M’

card_data.io = ‘O’
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card_data.balance = 1300
card_data.readerID = “BUS1219"
card_data.transfer = "MKU"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerlD = "MHJ"
pts_data.count = 3195

card_data.balance = 1000
card_data.readerID = "BUS1219"
card_data.transfer = "MKU"

api_data.day = 20141118
api_data.minute = 1857
api_data.transportation = ‘M’
api_data.io = 'O’

api_data.cost = 300
api_data.readerlD = "BUS1219"

d_sec = 26.75 api_data.transfer = "MKU"
cost = 300
uncal_cost = 0
enable = 1
PTS_UTCV_002_000 enable = 1 0]
balance = 950 Cost : 1050
cost = 1050 Balance :950
PTS_UTCV_002_001 enable = 0 X
balance = 950 Balance :950
cost =0
PTS_UTCV_003_000 card_data.day = 20141118 0001.txt

card_data.minute = 1523
card_data.transportaion = ‘M’
card_data.io = 'I'
card_data.balance = 1950
card_data.readerID = “BUS1219"
card_data.transfer = "MKU"

201411181523 M | 1950 BUS1219 MKU

PTS_UTCV_003_001

card_data.day = 20141119
card_data.minute = 0813
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1050
card_data.readerID = “BUS0872"
card_data.transfer = "NOT"

0002.txt

201411190813 B 1 1050 BUS0872 NOT

PTS_UTCV_003_002

card_data.day = 20141120
card_data.minute = 2349

card_data.transportaion = ‘M’

0003.txt

201311202349 M | 1050 MDM1603 NOT
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card_data.io = 'I'
card_data.balance = 1050
card_data.readerID = "MDM1603"
card_data.transfer = "NOT”

PTS_UTCV_004_000

<Table 4> Test Cases with
Integrated Linked List — Test Case 1

ES

<Table 5> Test Cases with Sorted Linked List

— Test Case 1 &=

PTS_UTCV_004_001

<Table 4> Test Cases with
Integrated Linked List — Test Case 2

ES

<Table 5> Test Cases with Sorted Linked List
— Test Case 2 &=

PTS_UTCV_004_002

<Table 4> Test Cases with
Integrated Linked List — Test Case 3

e

<Table 5> Test Cases with Sorted Linked List

— Test Case 3 &=

PTS_UTCV_005_000 <Table 5> Test Cases with Sorted | T : 3550
Linked List — Test Case 1 &= B : 1050
M : 2500

PTS_UTCV_005_001 <Table 5> Test Cases with Sorted | T: 5300
Linked List — Test Case 2 &X B:2100
M : 3200

PTS_UTCV_005_002 <Table 5> Test Cases with Sorted | T: 3700
Linked List — Test Case 3 &= B :2938

M : 761

<Table 2> Test Cases with Integrated Linked List

Test Case 1

api_data.day = 20141115
api_data.minute = 1050
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1050
api_data.readerlD = MKU0002
api_data.nextData = 2

2.

api_data.day = 20141115
api_data.minute = 0824
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api_data.transportation = ‘B’
api_data.io = o'
api_data.cost = 0
api_data.readerlD = BUS0001
api_data.nextData =3

3.

api_data.day = 20141115
api_data.minute = 0432
api_data.transportation = 'B’
api_data.io = V'
api_data.cost = 1050
api_data.readerID = BUS0001
api_data.nextData = 4

4.

api_data.day = 20141115
api_data.minute =1749
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1050
api_data.readerlD = MDMO0001
api_data.nextData = 5

5.

api_data.day = 20141115
api_data.minute = 1123
api_data.transportation = ‘M’
api_data.io = 0’

api_data.cost = 200
api_data.readerID = MKUO0002
api_data.nextData = NULL

Test Case 2

1.

api_data.day = 20141116
api_data.minute = 0613
api_data.transportation = ‘M’

api_data.io = I’
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api_data.cost = 1750
api_data.readerlD = MHJ0001
api_data.nextData = 2

2.

api_data.day = 20141116
api_data.minute = 1326
api_data.transportation = B’
api_data.io = V'

api_data.cost = 1050
api_data.readerIlD = BUS0002
api_data.nextData =3

3.

api_data.day = 20141116
api_data.minute = 1141
api_data.transportation = ‘M’
api_data.io = "I’

api_data.cost = 1050
api_data.readerlD = MGNOOO1
api_data.nextData = 4

4.

api_data.day = 20141116
api_data.minute =2118
api_data.transportation = 'B’
api_data.io = 0’
api_data.cost = 0
api_data.readerlD = BUS0002
api_data.nextData = 5

5.

api_data.day = 20141116
api_data.minute = 0908
api_data.transportation = B’
api_data.io = V'
api_data.cost = 1050
api_data.readerlD = BUS0001
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api_data.nextData = NULL

Test Case 3

1.

api_data.day = 20141117
api_data.minute = 1038
api_data.transportation = ‘M’
api_data.io = 0’
api_data.cost = 200
api_data.readerlD = MHJ0001
api_data.nextData = 2

2.

api_data.day = 20141117
api_data.minute = 1407
api_data.transportation = ‘B’
api_data.io = "I’

api_data.cost = 0
api_data.readerID = MHJ0001
api_data.nextData = 3

3.

api_data.day = 20141117
api_data.minute = 1939
api_data.transportation = B’
api_data.io = V'
api_data.cost = 1750
api_data.readerID = BUS0001
api_data.nextData =4

4.

api_data.day = 20141117
api_data.minute = 0821
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1050
api_data.readerlD = MHJ0001
api_data.nextData = 5

5.
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api_data.day = 20141116
api_data.minute =2345
api_data.transportation = ‘B’
api_data.io = o'
api_data.cost = 0
api_data.readerlD = BUS0001
api_data.nextData = NULL

3

<Table 3> Test Cases with Sorted Linked List

Test Case 1

api_data.day = 20141115
api_data.minute = 0432
api_data.transportation = 'B’
api_data.io = I’
api_data.cost = 1050
api_data.readerlD = BUS0001
api_data.nextData = 2

2

api_data.day = 20141115
api_data.minute = 0824
api_data.transportation = 'B’
api_data.io = 0’
api_data.cost = 0
api_data.readerID = BUS0001
api_data.nextData =3

3

api_data.day = 20141115
api_data.minute = 1050
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1050
api_data.readerlD = MKU0002
api_data.nextData = 4

Team 5
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api_data.day = 20141115
api_data.minute = 1123
api_data.transportation = ‘M’
api_data.io = 0’

api_data.cost = 200
api_data.readerlD = MKU0002
api_data.nextData =5

5

api_data.day = 20141115
api_data.minute =1749
api_data.transportation = ‘M’
api_data.io = "I’

api_data.cost = 1050
api_data.readerlD = MDMO0001
api_data.nextData = NULL

Test Case 2

1

api_data.day = 20141116
api_data.minute = 0613
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1750
api_data.readerlD = MHJ0001
api_data.nextData = 2

2

api_data.day = 20141116
api_data.minute = 0908
api_data.transportation = ‘B’
api_data.io = I’
api_data.cost = 1050
api_data.readerlD = BUS0001
api_data.nextData =3

3

Team 5
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api_data.day = 20141116
api_data.minute = 1141
api_data.transportation = ‘M’
api_data.io = V'

api_data.cost = 1050
api_data.readerlD = MGNO00O1
api_data.nextData = 4

4

api_data.day = 20141116
api_data.minute = 1326
api_data.transportation = B’
api_data.io = "I’

api_data.cost = 1050
api_data.readerlD = BUS0002
api_data.nextData =5

5

api_data.day = 20141116
api_data.minute =2118
api_data.transportation = 'B’
api_data.io = 0’
api_data.cost = 0
api_data.readerIlD = BUS0002
api_data.nextData = NULL

Test Case 3

1

api_data.day = 20141117
api_data.minute = 0821
api_data.transportation = ‘M’
api_data.io = I’

api_data.cost = 1050
api_data.readerID = MHJ0001
api_data.nextData = 2

2

api_data.day = 20141117
api_data.minute = 1038
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api_data.transportation = ‘M’
api_data.io = o'
api_data.cost = 200
api_data.readerlD = MHJ0001
api_data.nextData =3

3

api_data.day = 20141117
api_data.minute = 1407
api_data.transportation = 'B’
api_data.io = V'

api_data.cost = 0
api_data.readerID = MHJ0001
api_data.nextData = 4

4

api_data.day = 20141117
api_data.minute = 1939
api_data.transportation = ‘B’
api_data.io = V'
api_data.cost = 1750
api_data.readerlD = BUS0001
api_data.nextData =5

5

api_data.day = 20141116
api_data.minute =2345
api_data.transportation = ‘B’
api_data.io = 0’
api_data.cost = 0
api_data.readerID = BUS0001
api_data.nextData = NULL

<Table 4> List of Invalid Inputs of Each Identifier

Identifier Feature Invalid Value

(Process ID in DFD)

PTS_UTSI_000_000 A2.1 Decision Controller | card_data.day = 840713
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card_data.minute = 1523
card_data.transportaion = ‘B’
card_data.io = i’
card_data.balance = 1950
card_data.readerID = "MKU4219”"

card_data.transfer = "BUS"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerIlD = "MHJ"
pts_data.count = 3195

d_sec = 26.75

PTS_UTSI_000_001

A2.1 Decision Controller

card_data.day = 20141118
card_data.minute = 123
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1950
card_data.readerID = "MKU4219"
card_data.transfer = “BUS"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerlD = "MHJ"
pts_data.count = 3195

d_sec = 26.75

PTS_UTSI_000_002

A2.1 Decision Controller

card_data.day = 20141118
card_data.minute = 2785
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1950
card_data.readerlD = “MKU4219"
card_data.transfer = "BUS"

pts_data.day = 20141118
pts_data.minute = 1857
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pts_data.transportation = ‘M’
pts_data.readerIlD = "MHJ"
pts_data.count = 3195

d_sec = 26.75

PTS_UTSI_000_003

A2.1 Decision Controller

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 3000000000
card_data.readerID = "MKU4219"

card_data.transfer = "BUS"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerID = "MHJ3195"
pts_data.count = 3195

d_sec = 26.75

PTS_UTSI_000_004

A2.1 Decision Controller

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘B’
card_data.io = 'I'
card_data.balance = 1950

card_data.readerlD = "MKU42190"

card_data.transfer = "BU”"

pts_data.day = 20141118
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerID = "MHJ3195"
pts_data.count = 3195

d_sec = 26.75

PTS_UTSI_000_005

A2.1 Decision Controller

card_data.day = 20141118
card_data.minute = 1523
card_data.transportaion = ‘B’

card_data.io = 'I'

Team 5

22




Ver. 2.0

card_data.balance = 1950
card_data.readerID = "MKU42190"

card_data.transfer = "BU"

pts_data.day = 20141115
pts_data.minute = 1857
pts_data.transportation = ‘M’
pts_data.readerlD = "MHJ3195"
pts_data.count = 3195

d_sec = 26.75

4.1  Test items
<Table 1>& =&
4.2  Input specifications
<Table 1> &=
4.3  Output specifications
<Table 1> &=
Environmental needs
Public Transportation System?| Unit TestE {8t 43X QFAtg2 CHS1h ZCf

5.1  Hardware& Platform — Socket 1} ThreadE |23t LIHX| R EEL Visual StudioO| A,

Socket 1t ThreadE CygwinOf Al ZIglistCt,
Unit test summary report

6.1  Test summary report identifier
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& -~/ = B %

$ ./test
Test Case Identifier: PTS_UTCV_000_000
name of txt : 0001 p

day : 20141118

minute : 1523

transportation : M

io @ I

balance : 1950

readerID : BUS1219

transfer : MKU

PTS_UTCV_000_000

E ~/ooo =B =

$ ./TEST
Test Case Identifier: PTS_UTCV_000_001
name of txt : 0002 p

day : 20141119

minute : 0813

transportation : B

io @ I

balance : 1050

readerID : BUS0872

transfer : NOT

PTS_UTCV_000_001

E ~/ooD = B %

$ ./TEST
Test Case Identifier: PTS_UTCV_000_002
name of txt : 0003 -
day : 20141120 L
minute : 2349 T

transportation : M o DM1603 NOT
io @ I

balance : 1050

readerID : MDM1603

transfer : NOT

PTS_UTCV_000_002
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C ~/Test2

$ ./TEST
Test Case

card

=1
uncal_co
enable =
day : 20
minute :
transpor
io @ I

card_data.
card_data.
card_data.
data.
card_data.
data.

balance :
readerID :
transfer :

~/Test2

Identifier:
day: 000000
minute: 0000
transportation: 0
io: O
balance: 2000
readerID: DEFAULT
.transfer: NOT
day: 20141118
minute: 2112
transportation: B
readerID: BUS
count: 0014
050

0

st

1
141118
2112
tation :

950
BUS0014
NOT

PTS_UTCV_001_000

PTS_UTCV_001_000

E ~est2

$ ./TEST
Test Case

card_data.
card_data.
card_data.
data.
card_data.
card_data.
card_data.

card

e B _F B B B s

~/Test2

Identifier: PTS_UTCV_001_001
day: 20141118

minute: 2135

transportation: B

io: I
balance: 2000
readerID: BUS0014
transfer: NOT

pts_data.day: 20141118
pts_data.minute: 2140
pts_data.transportation: B
pts_data.readerID: BUS
pts_data.count: 30

cost 0
uncal_cost
enable = 1
day : 20141118
minute : 2140
transportation :
io : O

0

balance :
readerID :
transfer :

2000
BUS0014
NOT

PTS_UTCV_001_001
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rE ~{Test2 I s

~/Test2

Identifier: PTS_UTCV_001_002
.day: 20141118
.minute: 2149
.transportation: B
o I
.balance: 2000
.readerID: BUS0014
.transfer: NOT
.day: 20141119
.minute: 0023
.transportation: B
.readerID: BUS
.count: 2
= 1050

uncal_cost = 0

enable = 1

day : 20141119

minute : 0023

transportation :

io @ I

balance : 950

readerID : BUS0002

transfer : NOT

PTS_UTCV_001_002

(& ~rest2 (=] B [

~/Test2

$ ./TEST
Test Case Identifier: PTS_UTCV_001_003
card_data.day: 20141118
card_data.minute: 2149
card_data.transportation: B
card_data.jo: I
card_data.balance: 2000
card_data.readerID: BUS0014
card_data.transfer: NOT
pts_data.day: 20141118
pts_data.minute: 2245
pts_data.transportation: M
pts_data.readerID: MKU
pts_data.count: 124

cost = 1050

uncal_cost = 0

enable = 1

day : 20141118

minute : 2245
transportation : M

io : I

balance : 950

readerID : MKUO124
transfer : NOT

PTS_UTCV_001_003
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E ~Test2

~/Test2
$ ./TEST
Test Case
card_data.
card_data.
card_data.
card_data.

Identifier: PTS_UTCV_001_004
day: 20141118

minute: 2149

transportation: B

io: I

balance: 2000

readerID: MKU0386
BUS

transfer:

card_data.
card_data.
card_data.

pts_data.day: 20141118
pts_data.minute: 2245

pts_data.transportation: B
pts_data.readerID: BUS
pts_data.count: 463

cost =0

uncal_cost = 0

enable = 1

day : 20141118

minute :

transportation :

io : O

balance :
readerID :
transfer :

2245

2000
MKUQ386
BUS

PTS_UTCV_001_004

E ~/Testz

$ ./TEST
Test Case

card

card_data.
card_data.
card_data.
data.
card_data.
card_data.
card_data.

_ B o

~/Test2

Identifier: PTS_UTCV_001_005
day: 20141118

minute: 2149

transportation: B

io: I

balance: 2000

readerID: MKU0386
BUS

transfer:

pts_data.day: 20141119
pts_data.minute: 12

pts_data.transportation: B
pts_data.readerID: BUS
pts_data.count: 463

cost = 1050
uncal_cost = 700
enable = 1

day : 20141119
minute : 0012
transportation :

io : I

balance :
readerID :
transfer :

250
BUS0463
NOT

PTS_UTCV_001_005
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E ~/Testz .

~/Test2

$ ./TEST
Test Case Identifier: PTS_UTCV_001_006
card_data.day: 20141118
card_data.minute: 2149
card_data.transportation: B
card_data.jo: I

card_data.balance: 2000
card_data.readerID: MKU0386
card_data.transfer: BUS
pts_data.day: 20141118
pts_data.minute: 2223
pts_data.transportation: M
pts_data.readerID: MKU
pts_data.count: 0463

cost = 1050

uncal_cost = 700

enable = 1

day : 20141118

minute :

transportation : M

io : I

balance :
readerID :
transfer :

2223

250
MKU0463
NOT

PTS_UTCV_001_006

E ~Test2

$ ./TEST
Test Case

card

card_data.
card_data.
card_data.
data.
card_data.
card_data.
card_data.

~/Test2

Identifier: PTS_UTCV_001_007
day: 20141118

minute: 2229

transportation: B

io: I

balance: 1500

readerID: BUS1024

transfer: NOT

pts_data.day: 20141119
pts_data.minute: 634

pts_data.transportation: M
pts_data.readerID: MKU
pts_data.count: 187

cost = 1050

uncal_cost = 0

enable = 1

minute :

io : I

day : 20141119

transportation : M

balance :
readerID :
transfer :

0634

450
MKUQ187
NOT

PTS_UTCV_001_007
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$ ./TEST
Test Case

card_data.
card_data.
card_data.
card_data.
card_data.
card_data.
card_data.

~/Test2

Identifier: PTS_UTCV_001_008
day: 20141118

minute: 2229

transportation: M

io: I

balance: 1400

readerID: MDM4872

transfer: NOT

pts_data.day: 20141119
pts_data.minute: 634
pts_data.transportation: M
pts_data.readerID: MKU
pts_data.count: 187

cost = 1050

uncal_cost = 200

enable = 0

minute :

io @ I

balance :
readerID :
transfer :

day : 20141118

2229

transportation : M

1400
MDM4 87 2
NOT

PTS_UTCV_001_008

$ ./TEST
Test Case

card_data.
card_data.
card_data.

card_data.
card_data.

Ver. 2.0

m

~/Test2

Identifier: PTS_UTCV_001_009
day: 20141118

minute: 2229

transportation: M

io: I

balance: 1300

readerID: MDM4872

card_data.

card_data.transfer: NOT
pts_data.day: 20141118
pts_data.minute: 2313
pts_data.transportation: B
pts_data.readerID: BUS6309
pts_data.count: 6309

cost = 1050

uncal_cost = 200

enable = 1

day : 20141118

minute : 2313
transportation :

io : I

balance :
readerID :
transfer :

50
BUS6309
NOT

(e o

PTS_UTCV_001_009
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Test
card_data
card_data.
card_data.trar
card_data.io
card_data.b nce: 300
card_data aderID: MDM1549
card_data =Ter: NOT
=_data.day: 20141118
data.minute: 17
data.transportati
._data.readerID
data.count: 39
0

0
day : 201411185
minute : 15
transportation

10 = 0

balance : 800
readerID : MDM1549
transfer : NOT

PTS_UTCV_001_010

Test 12

card_data.

card_data.minute: 1
card_data.transportation: M
card_data. 1

card_data

card_data.rea

card_data.

pt=_data.

=_data.

uncal_c
enable
day : 20141118
minute : 1523
=portation
0
nce : 800
aderID : MDM1549
transfer : WOT

PTS_UTCV_001_011
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est e Identifier: PTS_UTCV_001_012
card_data.d
card_data.
card_data.
card_data. 1
card_data.balance: 1300
card_data.readerID: MDM1549
card_data.transfer: NOT
20141118
_data.minute: 1
_data.transportation: M
:_data.readerID: MH]
_data. count: 2010
1050
1_c
enable
day : 20141118
minute : 1731
'i_:r"ar'u:'-.pn:nr"tatin:nn
10 I
balance : 250
readerID : MHJIZOL10
transfer : WOT

PTS_UTCV_001_012

Test e Identifier: PTS_UTCV_001_013
card_data. : 20141118
card_data.
card_data.
card_data. i [
card_data. b: nce: 1100
card_data. derID: MDM1549
card_data. sfer: NOT
:_data.day: 20141118

_data.minute: 17
_data.transportation: M

enal
day : 20141118
minute : 15
transportat

10 2 0

balance : 1100
readerID : MDM1549
transfer : WOT

PTS_UTCV_001_013

Team 5
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Test 1
card_data.
card_data.
card_data.
card_data.io: I
card_data.balance: 1700
card_data.

card_data

Identifier: PTS_UTCV_001_014
ay: 20141118

_data.transportation: B
:_data.readerID: BUS
_data.count: 0791

= 1050

balance
readerID US07
transfer : MOT

PTS_UTCV_001_014

c -

Test e Identifier: PTS_UTCV_001_015
card_data. : 20141118

card_data.

card_data.

card_data.

card_data. b: nce: 1950

card_data. derID: MEU4219

card_data. sFer: BUS

:_data.day: 20141118

_data.minute: 18

_data.transportation: M

uncal_cost = 700
enable = 1

day : 20141118
minute : 1857
transportation : M
1o @ I

balance : z00
readerID : MHI3195
transfer : WOT

PTS_UTCV_001_015
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ntifier: PTS_UTCV_001_016
2004111

T
p
p
p

T

PTS_UTCV_001_016

E ~/Menitor_Test | = | (e

~/Monitor_Test
$ ./test
Test Case Identifier: PTS_UTCV_002_000

Cost : 1050
Balance : 950

PTS_UTCV_002_000

E ~/Menitor_Test =

~/Monitor_Test
$ ./TEST
Test Case Identifier: PTS_UTCV_002_001

950

Balance : 950

PTS_UTCV_002_001
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E -~/Card_test

~/Card_test

$ ./TEST

Identifier: PTS_UTCV_003_000
.day: 20141118 .
.minute: 1523
.transportation: M
do: I
.balance: 1950
.readerID: BUS1219
.transfer: MKU

name of txt : 0001

S|

PTS_UTCV_003_000

E ~/card_test

~/Card_test

$ ./TEST

Identifier: PTS_UTCV_003_001

.day: 20141119 p

.minute: 813

.transportation: B

do: I

.balance: 1050

.readerID: BUS0872

.transfer: NOT
name of txt : 0002

PTS_UTCV_003_001

E ~/Card_test

~/Card_test

Identifier: PTS_UTCV_003_002
.day: 20141120 p
.minute: 2349

.transportation: M

dor I

.balance: 1050

.readerID: MDM1603

.transfer: NOT
name of txt : 0003

DM1603 NOT

PTS_UTCV_003_002
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cC ~/fsorting

cC ~/sorting

PTS_UTCV_004_001
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cC ~/sorting

E ~/calculate_api

mpany income : 1050, metr mpany 1income

PTS_UTCV_005_000
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c ~/calculate_api

M

api

api
api_data.d
api_d m
api_

api_d
api_

. company income : 2100, metro company income

cC ~/calculate_api

api_readerID
total income . s : 2 , metro company income : 761

PTS_UTCV_005_002
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$ gcc Decision_controller

~/test
$ ./PTS_UT
cost = 1050
uncal_cost = 700
enable = 0
day : 840713
minute : 1523
transportation :
io : I
balance : 1950
readerID : MHJ3195
transfer : NOT

h

PTS_UTCI_000_000

rE ~ftest

$ gcc Decision_controller.c pts.h sharing_api_data.h

~/test
$ ./PTS_UTC
cost = 1050
uncal_cost = 700
enable = 0
day : 141118
minute : 0123
transportation :
io @ I
balance : 1950
readerID : MHJ13195
transfer : NOT

L
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PTS_UTCI_000_001

E ~rtest

~/test
$ gcc Decision_controller.c pts.h sharing_api_data.h -o

~/test
$ ./PTS_UTC
cost = 1050
uncal_cost = 700
enable = 0
day : 141118
minute : 2785
transportation :
io @ I
balance : 1950
readerID : MHJ13195
transfer : NOT

L

PTS_UTCI_000_002
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[FEREER x|

~/test
$ gcc Decision_controller.c pts.h sharing_api_data.h -o

~/test

$ ./PTS_UTC

cost = 1050

uncal_cost = 700

enable = 0

day : 141118

minute : 1523
| transportation : B

io @ I

balance : -1294967296

readerID : MHJ13195

transfer : NOT -

m

PTS_UTCI_000_003

(= A =

~/test
$ gcc Decision_controller.c pts.h sharing_api_data.h -o

~/test
$ ./PTS_UTC
cost = 1050
uncal_cost = 700
enable = 0
day : 141118
minute : 1523
transportation :
io @ I
balance : 1950
readerID : MHJI31950NOT
transfer : NOT S

m

PTS_UTCI_000_004

.
E ~stest

~/test
$ gcc Decision_controller.c pts.h sharing_api_data.h -o

~/test

$ ./PTS_UT

cost = 1050
uncal_cost = 700
enable = 0

day : 141119
minute : 1523
transportation :
io @ I

balance : 1950
readerID : MHJI3195

transfer : NOT

PTS_UTCI_000_005
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Evaluation
Test : 377H
Pass : 317§

Failed: 67li(invalid 3t ZYE0 CH3H)
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